

$$(10) f(x) + g(x) = r\sqrt{r+x} + r\sqrt{1-x} \Rightarrow r\sqrt{r+r\sqrt{1-x}, \sqrt{r+1}} \Rightarrow r\sqrt{(\sqrt{r+1}) + \sqrt{1-x}}$$

$$f(x) + g(x) = r\sqrt{r+x} + r\sqrt{1-x} \quad ; \quad f(x) = r\sqrt{r+x} + r\sqrt{1-x}$$

$$g(x) = (r\sqrt{r+x} + r\sqrt{1-x}) - (r\sqrt{r+x} + r\sqrt{1-x}) = \sqrt{r+x} - \sqrt{1-x}$$

$$y = \frac{f(x)}{r} - \frac{g(x)}{r} \Rightarrow \frac{r\sqrt{r+x} + r\sqrt{1-x}}{r} - \frac{\sqrt{r+x} - \sqrt{1-x}}{r}$$

$$\Rightarrow y = \frac{\sqrt{r+x} + r\sqrt{1-x} - \sqrt{r+x} + \sqrt{1-x}}{r} = \frac{r\sqrt{1-x} + \sqrt{1-x}}{r} = \sqrt{1-x}$$

$$D_f = D_g = [-1, 1], \quad R = [0, \sqrt{r}]$$

$$\Rightarrow y = \sqrt{1-x}, \quad D = [-1, 1], \quad R = [0, \sqrt{r}]$$

19 نکات سے 9 امیر پور ترقی یافتہ

$$(1) f(x) = \begin{cases} \cot \frac{\pi x}{r} & ; x \leq 1 \\ \sqrt{x^2+1} & ; x > 1 \end{cases}$$

$$f \circ f\left(\frac{r}{r}\right) = ?$$

$$f \circ f\left(\frac{r}{r}\right) = f\left(f\left(\frac{r}{r}\right)\right)$$

$$\Rightarrow f\left(\frac{r}{r}\right) = \cot \frac{\pi}{r} = \cot \frac{1 \cdot \pi}{r} = \cot \frac{\pi}{r} = \sqrt{r} \quad \checkmark, \quad f(\sqrt{r}) = \sqrt{(\sqrt{r})^2 + 1} = \sqrt{r+1} = r \Rightarrow f \circ f\left(\frac{r}{r}\right) = r \quad \checkmark$$

$$(2) f\left(\frac{1}{x}\right) = \sqrt{\frac{r x - 1}{x^2}}, \quad g(x) = r \cos^2 x, \quad f \circ g\left(\frac{\pi}{r}\right) = ?$$

$$f \circ g\left(\frac{\pi}{r}\right) = f\left(g\left(\frac{\pi}{r}\right)\right) \Rightarrow g\left(\frac{\pi}{r}\right) = r \cos^2\left(\frac{\pi}{r}\right) = r \left(\frac{1}{r}\right)^2 = \frac{1}{r}$$

$$f\left(\frac{1}{r}\right) = \sqrt{\frac{r \left(\frac{1}{r}\right) - 1}{\left(\frac{1}{r}\right)^2}} = \sqrt{\frac{r}{r}} = \frac{\sqrt{r}}{r} = \frac{\sqrt{r}}{r} = f \circ g\left(\frac{\pi}{r}\right) \quad \checkmark$$

② ب) $f(x) = [x]$, $g(x) = \frac{x}{1-x}$, $f \circ g(x) = ?$

$$f \circ g(x) = f(g(x)) \Rightarrow g(x) = \frac{x}{1-x} \times \frac{1+x}{1+x} = \frac{x+x^2}{1-x^2} = -(x+x^2)$$

$$\Rightarrow f \circ g(x) = [-(x+x^2)] = [-(1, x + x^2)] = [-(x, x^2, \dots)] = -x$$

$$\Rightarrow \boxed{f \circ g(x) = -x} \quad \checkmark$$

③ $f(x) = \sin x$, $g(x) = x\sqrt{1-x^2}$, $g \circ f(\frac{\pi}{4}) = ?$

$$g \circ f(\frac{\pi}{4}) = g(f(\frac{\pi}{4})) \Rightarrow f(\frac{\pi}{4}) = \sin(\frac{\pi}{4}) = \frac{\sqrt{2}}{2}, g(\frac{\sqrt{2}}{2})$$

$$= \frac{\sqrt{2}}{2} \times \sqrt{1 - (\frac{\sqrt{2}}{2})^2} \Rightarrow g(\frac{\sqrt{2}}{2}) = \frac{\sqrt{2}}{2} \times \frac{1}{\sqrt{2}} = \frac{\sqrt{2}}{2\sqrt{2}} = \frac{1}{2} = g \circ f(\frac{\pi}{4}) \quad \checkmark$$

④ $g(x) = \{(t, q), (r, e), (s, 1), (1, 10)\}$

$$f(x) = \{(t, \Delta), (q, \Delta), (1, 12), (1, 12)\}$$

ا) $f \circ g(x) = f(g(x)) \Rightarrow$

$$\begin{array}{l} t \rightarrow q \rightarrow \Delta = \{(t, \Delta), (q, \Delta), (s, 1), (1, 12)\} \\ r \rightarrow t \rightarrow \Delta \\ s \rightarrow 1 \rightarrow 12 \\ 1 \rightarrow 10 \rightarrow 12 \end{array}$$

ب) $g \circ f(x) = g(f(x)) \Rightarrow$

$$\begin{array}{l} t \rightarrow \Delta \rightarrow x \\ q \rightarrow \Delta \rightarrow x \\ 1 \rightarrow 12 \rightarrow x \\ 10 \rightarrow 12 \rightarrow x \end{array} \Rightarrow g \circ f = \emptyset \quad \checkmark$$

ج) $f \circ f(x) = f(f(x))$

$$\begin{array}{l} t \rightarrow \Delta \rightarrow x \\ q \rightarrow \Delta \rightarrow x \\ 1 \rightarrow 12 \rightarrow x \\ 10 \rightarrow 12 \rightarrow x \end{array} \Rightarrow f \circ f = \emptyset \quad \checkmark$$

د) $g \circ g(x) = g(g(x)) \Rightarrow$

$$\begin{array}{l} t \rightarrow q \rightarrow 1 \\ r \rightarrow t \rightarrow q \\ s \rightarrow 1 \rightarrow 10 \\ 1 \rightarrow 10 \rightarrow x \end{array} \Rightarrow g \circ g = \{(s, 1), (r, q), (s, 10)\} \quad \checkmark$$

⑤ $f: \{(1,1), (1,2), (1,3), (1,4)\}, g: \{(1,2), (1,3), (1,4), (1,5)\}$
 $(1,2) \in f \circ g, (1,3) \in g \circ f, (a,b) = ?$ (۲)

$g(1) = 2, f(2) = 3 \Rightarrow y = 2, x = 3, f(1) = 3, g(3) = 4 \Rightarrow b = 4$ ✓
 $\Rightarrow (a,b) = (1,4)$ **جدا اینی ۳ نوشتی؟**

⑥ $f, g \rightarrow$ تابع خطی, $f(f(n)) = 4n + 3, g(4n + 3) = 4n - 2$
 $g \circ f(-1) = ?$

$f(n) = an + b \Rightarrow f \circ f(n) = a(an + b) + b$ (۲)
 $\Rightarrow f \circ f(n) = a^2n + ab + b$
 $f \circ f(n) = 4n + 3 \Rightarrow a^2 = 4 \Rightarrow a = \pm 2$
 $ab + b = 3 \Rightarrow a \begin{cases} +2 \rightarrow f(n) = 2n + 1 = -1 \\ -2 \rightarrow f(n) = -2n - 2 = -1 \end{cases}$
 $\Rightarrow g(-1) = -1 \Rightarrow g \circ f(-1) = g(-1) = -1$ ✓

⑦ $f(n) = \sqrt{n+|n|}, g(n) = \frac{1}{n^2 - 4n}, D(g \circ f) = ?$

$f(n) = \sqrt{n+|n|} \Rightarrow f(n) = \begin{cases} 0 & n \leq 0 \\ \sqrt{n} & n > 0 \end{cases} \Rightarrow D_f = \mathbb{R}$ (۲)

$g(n) = \frac{1}{n^2 - 4n} = \frac{1}{n(n-4)} \Rightarrow f(n) \neq 0, f(n) \neq 4 \Rightarrow f(n) = 0 \Rightarrow n \leq 0$

$\Rightarrow f(n) = 4 \Rightarrow \sqrt{n+|n|} = 4 \Rightarrow n+|n| = 16 \Rightarrow 2n = 16 \Rightarrow n = 8$

$\Rightarrow D(g \circ f) = (0, 1) \cup (1, 8) \cup (8, +\infty) = (0, +\infty) - \{1\}$ ✓

⑧ $f(n) = \sqrt{1-n^2}, g(n) = \sqrt{n}, D((f+g) \circ f) = ?$ (۱)

$(f+g) \circ f = f(f(n)) + g(f(n)) \Rightarrow f(n) = \sqrt{1-n^2} \Rightarrow 1-n^2 \geq 0 \Rightarrow -1 \leq n \leq 1$

$\Rightarrow D_f = [-1, 1], D_{(f+g) \circ f} = [-1, 1]$ **توجه: دامنه f را باید در نظر بگیرید**

$D_{f+g} \circ f = \{n \in D_f, f(n) \in D_{f+g}\}$ **توجه: دامنه f را باید در نظر بگیرید**

PAPCO $D_{f \circ g} = D_f \cap D_g = [0, 1] \rightarrow 0 \leq f(n) \leq 1 \rightarrow n^2 \leq 1$ **توجه: دامنه f را باید در نظر بگیرید**

9 الف) $f\left(\frac{r_{n+1}}{n-r}\right) = t_{n+1} \Rightarrow \frac{r_{n+1}}{n-r} = t \Rightarrow \frac{rt+1}{t-r} = n$ (2)

$$f(t) = t\left(\frac{rt+1}{t-r}\right) + 1 \Rightarrow f(t) = \frac{1t+r}{t-r} + \frac{rt-1}{t-r} = \frac{1rt-1}{t-r}$$

$$f(n) = \frac{1rn-1}{n-r} \quad \checkmark$$

ب) $f\left(n + \frac{1}{n}\right) = n^r + \frac{1}{n^r} \Rightarrow f\left(n + \frac{1}{n}\right) = \left(n + \frac{1}{n}\right)^r - r\left(n + \frac{1}{n}\right)$

$$\left(n + \frac{1}{n}\right)^r = n^r + \frac{1}{n^r} + r\left(n + \frac{1}{n}\right) \Rightarrow n^r + \frac{1}{n^r} = \left(n + \frac{1}{n}\right)^r - r\left(n + \frac{1}{n}\right)$$

$$\Rightarrow f(n) = n^r - rn \quad \checkmark$$

10

$$g \circ f(n) = 0 \Rightarrow g(f(n)) = 0 \Rightarrow f(n) = r\sqrt{r} \Rightarrow n\sqrt{n} = r\sqrt{r} \Rightarrow n = r \quad \checkmark$$

$$f(n) = 1 \Rightarrow n\sqrt{n} = 1 \Rightarrow n = 1 \quad \checkmark$$

$$\Rightarrow r, r = \text{مقطع می شود}, g \circ f \text{ که می شود} \Rightarrow (r-1) = 1 \quad \checkmark$$